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BUSINESS ENGLISH

(HMTS,! 101 )

Time Altoted : 3 Hsurs Futt Marks : vo

Figur*s o#f of the right rnargin indicate futt marks,

Candidafes are required fo ar?slfi/e r Group A and anv 5 {fivel
from Graup B ta E, taking €f ,feqsf ansr from each graap.
Candidafes are recguirad to give ansu/e r in their ewn words

as far Es pra cticabie

GRSUP - A
{tu1ultiple Choice Type euestions}

1 . Choose the con:ect alternative for the foliowing : ['l Oxt =I0]
i) Synonym for bewilder

(a) perpiex tbi contest
(c) engage (d) conducive

ii) Synonym for enhanced

(a) irnproved {b) worsened
(c) endangered (d) mallgned

a

iii) Antonym for obscure
/^\ -,r:^*:o^4 ,r- \(ai distinct (b) cjiscover
(c) disgust (d) dismay
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iv) Antonym for Vaguely
(a) obscurely
(c) hazi!y

v) Next to him
fried groundff-

(b) hasrity

(d) ctearty

vociferousness came a vendor

(b) En

(d) sn

hearts immediately.

(b) having endeared
(d) have endeared

(b) beside

(d) within

at the window.

(b) staring
(d) stared

of

(a) at
(c) about

vi) This him to their
(a) endear
(c) endeared

vii) He sat atone in
fire, and seeing

(a) in
(c) at

viii) He sat

(a) stare

(c) having stare

(a) in
(c) !nto

x) I don't have

(a) too much
(c) enough

faces in it.

blankly out

for a minute.

(b) on

(d) onto

money to buy a nery computer.

(b) very much 
I

(d) Iitfle
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GROUP - B

2, (a) Apart from the informal channel Grapevine, there are
four formal channels through which information is
transmitted in an organisatlon.Exptain how these format
channels function with suitabre exampres.

(b) The process of effictive communication invotves five
stages. Elaborate. G+B = 12

3. '(a) Non-verbai communication is expressed through a
variety of ways" Comment on how Paralinguistics,
Kinesics and Proxemics are significant means of
communicating non-verbally.

(b) Diagrammatically represent the Shannon-Weaver Model
of Communication. Discuss three advantages/ Strengths
of the Model G+G = 12

GROUP . C
4. (a) A senior Manager of your company has been found

passing vital information about a tender to an old suppller.
ln the capacity of the company Director frame a
disciplinary memorandum as a warning note addressed
to the concgrned ernptoyee for his/her cjeed.

(b) As the Project Manager of YTM Computer Solutlons,
compose an e-mail to the Delivery Manager of your
project notifying theme about the misuse of official
e-mail as being practised by the project assingnees.

6+6 = 12

5. Siksha, Elr NGO plans ts set up a orphanage along with a
primary school in South Kolkata. You are a Mamb-er of the
Planning Cornmiftee that has been tasked to visit the
proposed site and submit a memo report on the feasibility
of constructing the orphanage at the given site, Submit your. report accordingly.
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Group - D

6' As the Purchase Manager of Hi-tech Training lnstitute, z0Rashbehari Avenus, Koliatr- zoooeo, you had ordered 100computers frorn HP (Hewlett Packard), 10S M. G. Road,Mumbai- 400036. When the consignment arrived, you foundthat some of the computers are in damaged condition. writea claim letter to the sales Manager of the company askingfor repair or replacennent of the"iiems. 
32

7 ' As the cFc of Texas Motors write a meeting notice alongwith an agenda to the Project Heads inviting them to adiscussion on spending an allocated budget for theconrpEfty's csR activities or sociar service. rz

SBQUP - E
B' (a) ln Night of the scorp ion Nissim Ezeklet presents a p$etureof the rural India of his tirne. in about 100 words makea short cornparative study of Ezekiel's tnlia and today,srural lndia indicating the cl"rang**,-;i#.

(b) At the end of The lwonkeys paw, flrrrs. white isthoroughly disappointed on rino;ng no one at the door.Rewrite the ending of the short *inry li"y*u, own waytrying to retain the suspense, horror and mystery of w.W. Jacobs. (100 words) 6+6 = lz
g' (a) !n R' K' Narayan's An Astrafoger's Day the titularcharacter becarne an astroloser by chance. in about

1CI0 words connment on how h; managed to control hisown destiny when he rnet Guru Nayak
(b) Haw would you correlate the mCIvement of the palanquin' to the shitting thoughts of the bride being carried in it?Give your answer according to the way you understandthe p*em. * 's 'v "t/{' J",r 

6+6 = iz
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